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i i: q M2 1f the molal boiling point constant of carbon tetracl e is 5.03 °C/molal and W

boiling point is 76.8 °C. A given solution contains 8.10 g of a nonvolatile
nonelectrolyte in 300 g of CCls. It boils as 78.4° C. What is the gram molecular mass

of the solute?
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;'L‘O’ yﬂ\s The molal boiling point constant of ethyl alcohol is 1.22 °C/molal. Its boiling point
is 78.4 °C. A solution of 14.2 g of a nonvolatile nonelectrolyte in 264 g of alcoho}l J

boils at 79.8 °C. What is the gram molecular mass of the solute? 4.4 - 798 ¢
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« W M~ 10. A solution of NaNOs contains 34 g of solut s?t!!ved in 100 g of water. What is
the molality of the solution?
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IO- 23 11. What mass of AgNO3 has been dissolved in 200 g of water if the molality of the

solution is 0.300 1?7 /4 "!‘A) ‘
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3-2 3 ¢ 12. What is the freezing point of a solution of ethyl
alcohol (C2H50H) that contains 20 g of the solute
dissolved in 250 g of water?
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f 2 9 13. How many grams of ethylene glycol, C2Hs(OH)2 must a researcher add to 500 g of

water to yield a solution that will freeze at -7.44 °C?

244 = m € O 190 D YOOz X %= 2wl (_‘_:_;,_11\
= 00~ ' .Sy Jred &

5’ L 14. How many grams of NaCl are required to raise the boiling point of 1.00 kg of
fer 1.6°C7
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",qm] 5. What is the molality of a solution made from 31 g of NaCl and 559 g of water?
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